
Name _______________________________


Period ___  Date ___/___/___

( Chemical Equilibria

1.
Consider the equilibrium:  2 SO2(g) + O2(g)  2 SO3(g)
Kc = 4.36 M-1

Calculate the value of “Q” for a situation in which the concentrations are [SO2] = 2.00 M, [O2] = 1.50 M, and [SO3] = 1.25 M.


Does this mixture shift toward the reactants or products to reach equilibrium? ____________________

3.
Consider the equilibrium of the following exothermic reaction: PCl3(g) + Cl2(g) 
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 PCl5(g).


How would the following changes affect the partial pressures of each gas at equilibrium?


a)
addition of PCl3
Shifts:       __________


b)
removal of Cl2
Shifts:       __________

c)
addition of  PCl5
Shifts:       __________

d)
increase the temperature
Shifts:       __________

e)
increase the pressure
Shifts:       __________


f)
addition of a catalyst
Shifts:       __________

5.
Indicate how each of the following changes affects the amount of each gas in the system below, for which (Hreaction = +9.9 kcal.









H2(g) + CO2(g) 
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 H2O(g) + CO(g)


a)
addition of CO2
Shifts:       __________

b)
addition of H2O
Shifts:       __________


c)
addition of a catalyst
Shifts:       __________


d)
increase in temperature
Shifts:       __________


e)
increase the pressure
Shifts:       __________
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